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Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Answer any two questions from this section in 

about 500 words each. 	 2x20=40 

1. Discuss the state of Indian economy at the time 

of independence. 

2. Outline the different measures of fertility. What 

are the reasons for high birth rate in "India ? 

3. Explain the rationale for small scale enterprises. 

What are the four arguments put forth in the IPR, 

1956 in this regard ? 

4. Explain the concept of 'balance of payments' and 

its uses. 
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SECTION - B 	
4x12=48 

Answer any four questions from this section in 

about 250 words each. 

5. What is capital formation ? How is it an 

important determinant of economic 

development ? 

6. Explain the importance of agriculture for 

contribution to foreign exchange resources. 

7. 'Rise in the number of casual labourers is an 

indication of the deterioration in the quality of 

employment. Discuss. 

8. Write a note on the 'status of collective 

bargaining' in India. 

9. Describe any four benefits associated with MNCs 

10. How is Sex - ratio defined ? Why is the Indian 

trend in this respect different from that of 

developed countries ? 
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SECTION - C 
6x2=12 

Answer any two questions from this section in 
about 100 words each. 

11. What are the four important factors to which the 
roots of corruption can be traced ? 

12. Write a brief note on the concept of 'social 
security'. 

13. Distinguish between traditional and modern small 
scale industries. 

14. How is 'usual status unemployment' defined ? 
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